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Abstandsflächenplan

1:200

Neubau von 4 Reihenwohnhäusern mit KFZ-Stellplätzen im Freien
Flur 5, Flurstück 210/1
Bergstraße 18, 63517 Rodenbach

Mehmet Muhsin Bayram
Anne- Frank- Str. 29
63526 Erlensee
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Anzusetzende Wandhöhe

W 1
Wandhöhe                             =  6,92 m

W 2
Wandhöhe                             =  10,015 m

W 3
Wandhöhe                             =  8,96 m

W 4
Wandhöhe                             =  6,97 m

W 5
Wandhöhe                             =  7,035 m

W 6
Wandhöhe                             =  7,02 m

W 7
Wandhöhe                             =  7,07 m

W 8
Wandhöhe                             =  8,86 m

W 9
Wandhöhe                             =  9,965 m

W 10
Wandhöhe                             =  7,065 m

W 11
Wandhöhe                             =  3,96 m

W 12
Wandhöhe                             =  7,045 m

W 13
Wandhöhe                             =  7,035 m

6,92 m x 0,4 = 2,77 m
erforderlich 3,00 m

7,02 m x 0,4 = 2,81 m
erforderlich 3,00 m
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Grundstücksgröße 1.115 m²
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3,96 m x 0,4 = 2,69 m
erforderlich 3,00 m

7,035 m x 0,4 = 2,81 m
erforderlich 3,00 m

6,97 m x 0,4 = 2,79 m
erforderlich 3,00 m

7,07 m x 0,4 = 2,83 m
erforderlich 3,00 m
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3,96 m x 0,4 = 2,69 m
erforderlich 3,00 m

3,96 m x 0,4 = 2,69 m
erforderlich 3,00 m

3,96 m x 0,4 = 2,69 m
erforderlich 3,00 m
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7,035 m x 0,4 = 2,81 m

erforderlich 3,00 m
7,045 m x 0,4 = 2,82 m

erforderlich 3,00 m
7,065 m x 0,4 = 2,83 m

erforderlich 3,00 m

Haus A Haus B Haus C Haus D


